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Should be M/2m.
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Three round objects, (1) a disk, (i1) a hoop, and (iii) a
solid sphere, are released from the top of the ramp
shown below. The objects have the same and mass,
equal to 5 kg. The release point is 1 m above the
horizontal section of the track. Calculate the resultant
velocities of the three objects when they reach the
bottom. You should assume that they roll without

slipping.




— K: 1
lM‘jL} (l%f)
Cons. Mech. . Eng. AU+ MK = o
= A =-AV
= ']’]/V]j",f\

V. e e = '
g = [B0 2ol Vi =35 3%



